G KBGEFHER =

HR

AKH —

74

52

SREE

55

93

91

49

Al

A2

SR P Hb X 5%

55

HRE ——

21

56

91

62

B1

B2

44

59

64

REERIE

— KB

48

41

— it

BER —

38

69

g8 —

BiFm —

31

42

34

57

C1

C2

55

44

42

56

38

43

D1

D2

47

30

38

27

40

61

32

REENm

69




TG KBGEFHER = S X 7%

<E&HL>
RiE= AEERL
74 19
Al A2 — Hix—
38 60 18
w 41
245, —— RM
BHR —
42
85
EFE — BiZm
56 46
B1 B2
43 33 _
BB @ —F — {EH=
60
21 _.
—— WIEE
&EH @ — —— WE
32 13
AKH — Cl C2 —— Hi—
14 62 74 106
- 97 29
Bl —— o
orith — — HEER
23 54
D1 D2
62 18 e
BiRE — —— FEENME
40 61
29 37
/\*il\ - — —E




